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Question Number : 201 Question Id : 5402502686 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
Match List - I with List - IL
List - I List - II
(Weather element) (Instruments)
(A) Light (I)  Hygrometer
(B) Wind Velocity (I) Thermometer
(C) Humidity (IlI) Sunshine recorder
(D) Temperature (IV) Anemometer

Choose the correct answer from the options given below :
(1) (A, (B)-(I), (O, (D)-(IV)

(2) (A, (B)-(IV), (O)-(), (D)-(1)

(3) (A, (B)-(0), (O-(1V), (D))

(4)  (A)1V), (B)-(D), (O)-(1), (D)-(I)

Options:

54025010741. 1

54025010742. 2

54025010743. 3

54025010744. 4

Question Number : 201 Question Id : 5402502686 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :



Key Value

Comprehension MCQ
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(1) (A)-(D), (B)-(I), (O)-(I1), (D)-(1V)
(2)  (A)-(0), (B)-(IV), (O)-(I), (D)-(IT)
(3)  (A)-(D), (B)-(1), (O)-(1V), (D)-(11I)
(4)  (A)-(IV), (B)-(III), (CO)-(IT), (D)-(D)
Options:

54025010741. 1
54025010742. 2
54025010743. 3
54025010744. 4

Question Number : 202 Question Id : 5402502687 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Ifcis the speed of light; and \ and v wavelength and frequency, respectively, of an electromagnetic
radiation, then which of the following s true ?

1) \=c
Q) v=¢

V
¢

—
=]
-
=
1]

Options:

54025010745. 1
54025010746. 2
54025010747. 3

54025010748. 4

Question Number : 202 Question Id : 5402502687 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options :

54025010745. 1



54025010746. 2
54025010747.3

54025010748. 4

Question Number : 203 Question Id : 5402502688 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Which of the following is known as “power house” of the cell ?
(1) Mitochondrion
(2) Plastid
(3) Lysosome
(4) Vacuole
Options:

54025010749. 1
54025010750. 2
54025010751. 3

54025010752. 4

Question Number : 203 Question Id : 5402502688 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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(2) <9

(3) <ddT4

(4) THHHL
Options:

54025010749. 1
54025010750. 2
54025010751. 3
54025010752. 4

Question Number : 204 Question Id : 5402502689 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Pure line selection is an effective method of crop improvement in which of the following crops ?
(1)  Often cross-pollinated crops

(2) Self-and cross-pollinated crops

(3) Self-pollinated crops

(4)  Cross-pollinated crops

Options:

54025010753 1

54025010754. 2

54025010755. 3

54025010756. 4

Question Number : 204 Question Id : 5402502689 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

frefefed 5 %M 9 wodl | 1§ 3vRH 997 Bel UR 1 guieerr fafy 87
(1) sHfeehet sk AT et
(2) @ TE HH WHE FHel

(3) W@ WRE wEed
(4) T TN el
Options:

54025010753. 1
54025010754. 2
54025010755. 3
54025010756. 4

Question Number : 205 Question Id : 5402502690 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

A chromosome with the centromere situated close to its end forming one extremely short and one
very long arm is called :

(1) Telocentric
(2) Metacentric
(3
(

)
) Acrocentric
4

Sub-metacentric



Options:

54025010757. 1
54025010758. 2
54025010759. 3

54025010760. 4

Question Number : 205 Question Id : 5402502690 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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54025010757. 1
54025010758. 2
54025010759. 3
54025010760. 4

Question Number : 206 Question Id : 5402502691 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :



Key Value

Comprehension MCQ

In a dihybrid cross, if an individual heterozygous for both the characters is crossed with double
recessive, which phenotype ratio would be expected ?

() 132:2:1
@ L%l
3 Lilslsd
(4) 9:3:3:1
Options:

54025010761. 1
54025010762. 2
54025010763. 3

54025010764. 4

Question Number : 206 Question Id : 5402502691 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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() 1:2:2:1

(@) 1:2:1:1

B 1:1:1:1

(4) 9:3:3:1

Options:

54025010761. 1
54025010762. 2
54025010763. 3



54025010764. 4

Question Number : 207 Question Id : 5402502692 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Which of the following is an example of buffer solution ?
(1) A mixture of nitric acid and sodium nitrate

(2) A mixture of sodium hydroxide and nitric acid

(3) A mixture of acetic acid and sodium hydroxide

(4) A mixture of acetic acid and sodium acetate
Options :

54025010765. 1

54025010766. 2

54025010767. 3

54025010768. 4

Question Number : 207 Question Id : 5402502692 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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(4) Ufafesr 17 AR Hifeas wfaee = g
Options:
54025010765. 1
54025010766. 2
54025010767. 3
54025010768. 4

Question Number : 208 Question Id : 5402502693 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Which is not a polysaccharide ?
(1) Pectin

(2) Lignin

(3) Hemicellulose

(4) Glucose

Options:

54025010769. 1

54025010770. 2

54025010771. 3

54025010772. 4

Question Number : 208 Question Id : 5402502693 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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Options:
540250107609. 1
54025010770. 2
54025010771. 3
54025010772. 4

Question Number : 209 Question Id : 5402502694 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Amoeba belongs to the kingdom :
(1) Fungi

(2) Plantae

(3) Protista

(4) Animalia

Options:



54025010773. 1
54025010774. 2
54025010775. 3

54025010776. 4

Question Number : 209 Question Id : 5402502694 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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Options:

54025010773. 1
54025010774. 2
54025010775. 3

54025010776. 4

Question Number : 210 Question Id : 5402502695 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




What are those fungi called which live in symbiotic association with roots of higher plants ?
(1) Saprophytes

(2) Parasites
(3) Lichens

(4)  Mycorrhiza
Options:
54025010777. 1
54025010778. 2
54025010779. 3

54025010780. 4

Question Number : 210 Question Id : 5402502695 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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(1) Hasia

(2) ESiEl
(3) mEHT
(4) HARHA
Options:

54025010777. 1
54025010778. 2
54025010779. 3
54025010780. 4

Question Number : 211 Question Id : 5402502696 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Operation Flood is associated with
(1) River protection

(2) Ganga basin protection

(3) Milk production

(4) Fish production

Options:

54025010781. 1

54025010782. 2
54025010783. 3

54025010784. 4

Question Number : 211 Question Id : 5402502696 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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Options:



54025010781. 1
54025010782. 2
54025010783. 3

54025010784. 4

Question Number : 212 Question Id : 5402502697 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

ICAR - Indian Veterinary Research Institute is situated at :
(1) Karnal

(2) Izatnagar

(3) Malegaon

(4) Kolkata

Options:

54025010785. 1

54025010786. 2

54025010787. 3

54025010788. 4

Question Number : 212 Question Id : 5402502697 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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(1) =M

(2) IR
(3) Helia
(4)  RIcTeRl
Options :

54025010785. 1
54025010786. 2
54025010787. 3

54025010788. 4

Question Number : 213 Question Id : 5402502698 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Which of the following is not a bacterial disease ?
(1) Haemorrhagic septicaemia

(2) Rinderpest

(3) Black quarter

(4) Mastitis

Options:

54025010789. 1

54025010790. 2

54025010791. 3

54025010792. 4

Question Number : 213 Question Id : 5402502698 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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Options:

54025010789. 1
54025010790. 2
54025010791. 3
54025010792. 4

Question Number : 214 Question Id : 5402502699 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Cow and buffaloes come into heat, after a period of days.
(1) 15-17

(2) 19-21

(3) 20-27

(4) 30-31

Options:



54025010793. 1
54025010794. 2
54025010795. 3
54025010796. 4

Question Number : 214 Question Id : 5402502699 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

T SR 95 fei =t s1afa & e 3Afea 3a 2
(1) 15-17

(2) 19-21

(3) 25-27

(4) 30-31

Options:

54025010793. 1
54025010794. 2
54025010795. 3

54025010796. 4

Question Number : 215 Question Id : 5402502700 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Deep litter and cage systems of poultry can be categorized as system.
(1) Free range

(2) Semu intensive

(3) Intensive

(4) Easy management
Options:
54025010797. 1
54025010798. 2
54025010799. 3

54025010800. 4

Question Number : 215 Question Id : 5402502700 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options:
54025010797. 1
54025010798. 2
54025010799. 3
54025010800. 4

Question Number : 216 Question Id : 5402502701 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

When is medical examination needed, if heifer is not showing heat symptoms for breeding ?
(A) After 3 years age

(B) After 300 kg body weight

(C) After 5-years age

(D) At 2-years age

Choose the correct answer from the options given below

(1) (4)Only

) Qm ()Onw
(3) (4)and () On

B () Bad(Q OnIv
Options :
54025010801. 1
54025010802. 2
54025010803. 3

54025010804. 4

Question Number : 216 Question Id : 5402502701 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




e T W o foTU Sior o @ e fera o Faferen S 1 o STl & ¢/
A) 330 % 3 & .

(

(B) 300 fam. YR 1 ¥ 21 % g

(C) 5 37 o

(D) 2T HE R

e fem T foeredi A B W@ T T i
(1) % (A

(2) @ (C) ¥R (D)

(3) e (A) &R (B

(4) T (A), (B) R (C)

Options :

54025010801. 1
54025010802. 2
54025010803. 3

54025010804. 4

Question Number : 217 Question Id : 5402502702 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

During collection of semen from a bull, the artificial vagina should be held at angle to
the ground.

1) 90
)
3
4

450

2
()
W 60



Options:

54025010805. 1
54025010806. 2
54025010807. 3
54025010808. 4

Question Number : 217 Question Id : 5402502702 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

ie ¥ ol T % q99 B0 I 61 78 I TG AR
(1) 90°

(2) 0°

(3) 45°

(4) 60°

Options:

54025010805. 1

54025010806. 2

54025010807. 3

54025010808. 4

Question Number : 218 Question Id : 5402502703 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value




Comprehension MCQ

Which is fat rich milk product ?

(1) Paneer
(2) Ghee
(3) Dahi
(4) Kulfi
Options :

54025010809. 1
54025010810. 2
54025010811. 3

54025010812. 4

Question Number : 218 Question Id : 5402502703 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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(1) T

(2) e
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Options :

54025010809. 1
54025010810. 2
54025010811. 3
54025010812. 4



Question Number : 219 Question Id : 5402502704 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

In Artificial Insemmation semen from single bull can be used for inseminating more than
COWS per year.

(1) 10,000
2) 20,000
) 30,000
(4) 50,000
Options:
54025010813. 1
54025010814. 2
54025010815. 3

54025010816. 4

Question Number : 219 Question Id : 5402502704 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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(1) 10000

2) 20000

(3) 30,000

(4) 50000
Options:
54025010813. 1
54025010814. 2
54025010815. 3

54025010816. 4

Question Number : 220 Question Id : 5402502705 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Which of the following is known as a secondary nutrient element for plants ?
(L) N

(2) P
(3) Fe
(4) 5
Options:
54025010817. 1
54025010818. 2
54025010819. 3

54025010820. 4

Question Number : 220 Question Id : 5402502705 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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(1) N
(2) P
(3) Fe
(4) S
Options :

54025010817. 1
54025010818. 2
54025010819. 3

54025010820. 4

Question Number : 221 Question Id : 5402502706 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Arrange the following phenological stages of wheat in correct order.
(A) Tillering

(B) Crown root initiation

(C) Jointing

(D) Dough

(E) Milk

Choose the correct answer from the options given below :
(1) (&), (B), (C) (E), (D)

) () (A) © E) D)

(3) (&), (B) Q. D). E)
(4)  (E) (A) (©) (B) (D)
Options:

54025010821. 1
54025010822. 2
54025010823. 3
54025010824. 4

Question Number : 221 Question Id : 5402502706 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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(1) (A), (B) (©), (E), (D)
(2)  (B), (A), (©), (E), (D)
3)  (A), (B), (O), (D), (B)
(4) (E) (A) (O, (B), (D)
Options:

54025010821. 1
54025010822. 2
54025010823. 3

54025010824. 4

Question Number : 222 Question Id : 5402502707 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Di-ammonium phosphate is a complex fertilizer and contains :
(1) Nitrogen only

(2) Phosphorus only

(3) Nitrogen and phosphorus

(4) Nitrogen, phosphorus and potash

Options:



54025010825. 1
54025010826. 2
54025010827. 3
54025010828. 4

Question Number : 222 Question Id : 5402502707 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

T STHIFIH HEhe U Sfed Savh & 3 36 A 2
(1) had AESH
(2) haT HITRH
(3) IEISH 3R HIEhHRE
(4) EISH, HERRE SR G
Options :
54025010825. 1
54025010826. 2
54025010827. 3

54025010828. 4

Question Number : 223 Question Id : 5402502708 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Arrange the soils of the following textural classes according to descending order of their clay
percentage.

(A) Sandy clay

(B) Clay

(C) Sandy loam

(D) Sandy clay loam

(E) Sand

Choose the correct answer from the options given below :

(1) (8) (4), (O) €, (§

2 (B), (C), (&) (D), ()
() (. (A),(B), (E), (D
(4 (), (4) (), (), )
Options:

54025010829. 1
54025010830. 2
54025010831. 3

54025010832. 4

Question Number : 223 Question Id : 5402502708 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options:

54025010829. 1
54025010830. 2
54025010831. 3
54025010832. 4

Question Number : 224 Question Id : 5402502709 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

How much single super phosphate (SSP) is needed to supply 80 kg P,O: to 1 hectare area ?
(1) 160 kg

(2) 320k
(3) 500 kg
(4) 80kg

Options:



54025010833. 1
54025010834. 2
54025010835. 3
54025010836. 4

Question Number : 224 Question Id : 5402502709 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

T ¢ 47 1 80 R 2,0, 5w o ferw forr efr et (SP) 1 e 27
(1) 160 f&m

(2) 30 f&m

(3) 500 f&m
(4) 80 f&m
Options :
54025010833. 1
54025010834. 2
54025010835. 3

54025010836. 4

Question Number : 225 Question Id : 5402502710 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




What is the water use efficiency, if grain vield of a crop is 6 ton/he and water requirement for
growing the crop 1 2000 mm ?

(1) 3kg/he-mm
Q)MMWMHM
(3) 3t/he-mm

(4) 03kg/he - mm
Options:
54025010837. 1
54025010838. 2
54025010839. 3

54025010840. 4

Question Number : 225 Question Id : 5402502710 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

7, o e 1 9751 R 6 ton he & SR 1 6 30014 o 1670 2000 mun 2 T e ST 5T 40
a7

(1) 3kg/he-mm

(2) 0003 kg/he - mm
(3) 3t/he-mm
(4

03 kg/he - mm

J
4
Options:

54025010837.1
54025010838. 2
54025010839. 3
54025010840. 4



Question Number : 226 Question Id : 5402502711 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

In which crop, “crown - roo initiation is considered as the most moisture sensitive stage for
irrigation ?

(1) Rice

(2) Wheat

(3) Maize

(4) Pearl millet
Options:
54025010841. 1
54025010842. 2
54025010843. 3

54025010844. 4

Question Number : 226 Question Id : 5402502711 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




a1 T et - e e 3 fe, e e 6 o e e sren o 0 €7

Options:

54025010841. 1
54025010842. 2
54025010843. 3
54025010844. 4

Question Number : 227 Question Id : 5402502712 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Which of the following are pressurized irrigation systems ?
A) Furrow irrigation

B) Flood irrigation

C) Drip

D) Rainguns

E) Micro-sprinklers

Choose the correct answer from the options given below :
(I) (A)and (B) Only

(2)  (A), (B) and (C) Only

(3) (O, (D) and (E) Only

(4) (C) and (E) Only

Options:

(
(
(
(
(



54025010845. 1
54025010846. 2
54025010847.3
54025010848. 4

Question Number : 227 Question Id : 5402502712 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

frefafad § & $F 9 <@ amet fa=re gonfert §2
(A) @ fE=E

(B) g f=g

(C) feu

(D) TFH

(B) T8 TR

= fou 7T fasedi °§ 9 W@t S F1 F9397 HifT

(1) ad (A) 3T (B)
(2) e (A), (B) R (C)
(3) e (Q), (D) 3 (E)
(4) Had (C) R (E)
Options :

54025010845. 1
54025010846. 2
54025010847.3

54025010848. 4



Question Number : 228 Question Id : 5402502713 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

What is the name of the phenomenon where one plant exerts adverse effects on neighbouring
plants through production and release of toxic chemicals ?

(1) Symbiosis
2)  Allelopathy
3

4)  Mutualism

(3) Parasitism
Options:

54025010849. 1
54025010850. 2
54025010851. 3

54025010852. 4

Question Number : 228 Question Id : 5402502713 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options:

54025010849. 1
54025010850. 2
54025010851. 3

54025010852. 4

Question Number : 229 Question Id : 5402502714 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Removal of weeds through hand pulling, hoeing, mowing is considered a5 method,
(1) Physical

(2) Cultural
(3) Biological
(4)  Chemical
Options:
54025010853. 1
54025010854 2
54025010855. 3

54025010856. 4



Question Number : 229 Question Id : 5402502714 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

@ﬂﬁﬂﬁﬁ%ﬁ,ﬂ;ﬁ,ﬁ@ﬂmﬁ WO 3 ST TN e ¢
1

(1) e

Q) W
) o

(4) T
Options :

54025010853. 1
54025010854. 2
54025010855. 3
54025010856. 4

Question Number : 230 Question Id : 5402502715 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Which of the following crop requires ‘puddling” operation ?
(1) Transplanted rice

(2) Direct seeded rice

(3) Transplanted wheat

(4) Direct seeded wheat




Options:

54025010857.1
54025010858. 2
54025010859. 3
54025010860. 4

Question Number : 230 Question Id : 5402502715 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

frefafed § 9 1 9 wEd & STee Y=’ Sl STavded § 7
(1) wfadfud 4

(2) TcIH U SIS
(3) ufefia g

(4) T I SR
Options:

54025010857. 1
54025010858. 2
54025010859. 3

54025010860. 4

Question Number : 231 Question Id : 5402502716 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value




Comprehension MCQ

The institute in India responsible for collection and conservation of plant germplasm is :
(1) National Bureau of Animal Genetic Resources, Kamnal

(2) Indian Agricultural Statistics Reasearch Institute, New Delhi
(3) National Bureau of Plant Genetic Resources, New Delhi
(4) National Bureau of Fish Genetic Resources, Lucknow

Options:

54025010861. 1
54025010862. 2
54025010863. 3
54025010864. 4

Question Number : 231 Question Id : 5402502716 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

fe & § 3 T ARG SR TR SHARe o TRev o ot steert §7
(1) T T S HEE S, FA
(2) R F iRt SEA He 8- feeet
(3) T IRy SR W S, TE-fewet
(4) woEl AERE Al F U o, aET
Options:
54025010861. 1
54025010862. 2
54025010863. 3
54025010864. 4



Question Number : 232 Question Id : 5402502717 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Which is the most cultivated species of wheat in India ?
(1)  Triticum aestivum

(2)  Triticum durum

(3)  Triticum dicoccum

(4) Triticum sphaerococcum

Options :

54025010865. 1

54025010866. 2

54025010867. 3

54025010868. 4

Question Number : 232 Question Id : 5402502717 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

E o1 whIF HI S i WRd § Tl 21 Wl Sl St 8 2
(1) RR#H ufeaq

(2) fefewq gH
(3) [ofeH SEHiFH
4) FfeFg aiwisg



Options:

54025010865. 1
54025010866. 2
54025010867. 3
54025010868. 4

Question Number : 233 Question Id : 5402502718 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Which country is the second largest producer of fruits and vegetables in the world ?
(1) India

(2) China

(3) United States of America
(4) Brazil

Options:

54025010869. 1
54025010870. 2
54025010871. 3

54025010872. 4

Question Number : 233 Question Id : 5402502718 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




forva ® el iR Tfestl o1 GO Tad 2] ScUeeh 991 i 91 &2
(1) wmd

(2) =

(3) HYH T STHRER
(4) WS

Options :

54025010869. 1
54025010870. 2
54025010871. 3
54025010872. 4

Question Number : 234 Question Id : 5402502719 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Which of the following fruits is not indigenous to India ?
(1) Mango

(2) Guava

(3) Banana

(4) Jackfruit
Options:

54025010873. 1
54025010874. 2
54025010875. 3
54025010876. 4

Question Number : 234 Question Id : 5402502719 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
frefafad 5 9 H 91 9d 61 S90S el el © 2
(1) <™

(2) 3THET

(3) el

(4) HeEd
Options :

54025010873. 1
54025010874. 2
54025010875. 3
54025010876. 4

Question Number : 235 Question Id : 5402502720 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

‘Totapuri’ is a variety of
(1) Litchi

(2) Banana

(3) Papaya

(4) Mango

Options:



54025010877. 1
54025010878. 2
54025010879. 3
54025010880. 4

Question Number : 235 Question Id : 5402502720 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
drargdt fRaent forer § 7

(1) <=

(2) kel

(3) gdia

(4) 3™
Options :

54025010877. 1
54025010878. 2
54025010879. 3

54025010880. 4

Question Number : 236 Question Id : 5402502721 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Except for raspberry and strawberry jams, what should be the minimum percentage of fruit pulp
majam?

Options:

54025010881. 1
54025010882. 2
54025010883. 3
54025010884. 4

Question Number : 236 Question Id : 5402502721 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Options:

54025010881. 1
54025010882. 2
54025010883. 3
54025010884. 4

Question Number : 237 Question Id : 5402502722 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Which of the following has African and French varieties ?
(1) Marigold

(2) Chrysanthemum

(3) Gladiolus

(4) Rose

Options:

54025010885. 1

54025010886. 2

54025010887. 3

54025010888. 4

Question Number : 237 Question Id : 5402502722 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

fr=fafea o 9 faaat st 3R = foed €72
(1)

(2) TSRS
(3) Tofesiia™
(4) T



54025010885. 1
54025010886. 2
54025010887. 3
54025010888. 4

Question Number : 238 Question Id : 5402502723 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
Match List - I with List - IL

List - 1 List - II
(A) Radish (I)  Tuber
(B) Potato (I) Root
(C) Onion (III) Stem
(D) Cauliflower (IV) Bulb

Choose the correct answer from the options given below :
(1) (A1), (B, (C)-(I), (D)-(IV)

(2)  (AHIV), (B)(D), (O-(IL), (D)-(ID)

(3)  (A)-dD), B)-0), (O)-1V), (D)-(11)

(4) (A1), (B)-(), (O-L), (D}-IV)

Options:

54025010889. 1

54025010890. 2

54025010891. 3

54025010892. 4

Question Number : 238 Question Id : 5402502723 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

=il - I & 919 gt - 11 o1 fieE sifs )
-1 Tl - 11

el e 9T
(A) e O e
(B) 7] 1) b«
(C) ™= (III) &
(D) eI (IV) ¥Ih &g

== feu 7o fasredi ° 9 Wl 3T &1 9949 ST

(1) (A)-(D), (B)-(I), (O)-(IL), (D)-(1V)
(2)  (A)-(V), (B)-(1), (O)-(1), (D)-(1)
(3)  (A)-(D), (B)-(), (O1V), (D)-(II)
(4) (A)-1D), (B)-([D), (O)-(11D), (D)-(IV)
Options :

54025010889. 1
54025010890. 2
54025010891. 3
54025010892. 4

Question Number : 239 Question Id : 5402502724 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value




Comprehension MCQ

Match List - [ with List - IL.

List - I List - II
Flower Crop Commerical method of propagation
(A) GCladiolus () Seed
(B) Rose () Corm
(C) Marigold (II) T-Budding
(D) Chrysanthemum (IV) Suckers

Choose the correct answer from the options given below :

(1) (AHD, B}, (CHI, (DHIV)
(2) (A, BH1V), (CHIL), (D))
(3) (A, B)-(I), (©-(0), D}IV)
(4)  (AHI), B)-0), (OALV), (DI
Options:

54025010893. 1

54025010894. 2

54025010895. 3

54025010896. 4

Question Number : 239 Question Id : 5402502724 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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(1) (A1), (B)-(IT), (O)-(IID), (D)-(1V)

(2)  (AHD), (BHIV), (O-(IL), (D)-(LT)
(3) (A1), (B)-(), (©)-(I), (D}IV)
(4) (A1), (B)-D), (O-1V), (D)-(IIT)
Options:

54025010893. 1
54025010894. 2
54025010895. 3

54025010896. 4

Question Number : 240 Question Id : 5402502725 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Growing potato in the interspaces of apple trees in the first few years is an example of :
(1) Crop rofation

(2
(3) Mixed cropping
(4) Mono cropping

Options:

Inter cropping

54025010897. 1
54025010898. 2
54025010899. 3
54025010900. 4

Question Number : 240 Question Id : 5402502725 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

e 9 T B ¥ S 3 0 A < o ) T e o SR
(1) G T

(2) 3T TEH
(3) fufgd &=
(4) THIEEA
Options :

54025010897. 1
54025010898. 2
54025010899. 3
54025010900. 4
Sub-Section Number : 2

Sub-Section Id : 540250189



Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 241 Question Id : 5402502726 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1

Attempt items based, on the passage given below :

In RNA, every nucleotide residue has an additional -OH group present at 2'position in the
ribose. Also, in RNA the uracil is found at the place of thymine (3-methyl uracil, another chemical
name for thymine),

DNA as an acidic substance present in nucleus was first identified by Friedrich Meischer in
1869, He named it as ‘Nuclein’, However, due to technical limitation in isolating sucha long polymer
intact, the elucidation of structure of DNA remained elusive for a very long period of time. It was
only in 1953 that James Watson and Francis Crick, based on the X-ray diffraction data produced
by Maurice Wilkins and Rosalind Franklin, proposed a very simple but famous Double Helix model
for the structure of DNA, One of the hallmarks of their proposition was base pairing between the
two strands of polynucleotide chains. However, this proposition was also based on the observation
of Erwin Chargaff that for a double stranded DNA, the ratios between Adenine and Thymine and
Guanine and Cytosine are constant and equals one.

What s the common name of 5-methyl uracil ?
(1) Adenine

(2) Thymine
(3) Guanine
(4)  Cytosine
Options :
54025010901. 1
54025010902. 2
54025010903. 3

54025010904. 4



Question Number : 241 Question Id : 5402502726 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Comp1
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Options:
54025010901. 1
54025010902. 2
54025010903. 3

54025010904. 4

Question Number : 242 Question Id : 5402502727 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1

Attempt items based, on the passage given below :

In RNA, every nucleotide residue has an additional -OH group present at 2'position in the
ribose. Also, in RNA the uracil is found at the place of thymine (3-methyl uracil, another chemical
name for thymine),

DNA as an acidic substance present in nucleus was first identified by Friedrich Meischer in
1869. He named itas Nuclein’. However, due to technical limitationin isolating such a long polymer
intact, the elucidation of structure of DNA remained elusive for a very long period of time. It was
only in 1953 that James Watson and Francis Crick, based on the X-ray diffraction data produced
by Maurice Wilkins and Rosalind Franklin, proposed a very simple but famous Double Helix model
for the structure of DNA. One of the hallmarks of their proposition was base pairing between the

two strands of polynucleotide chains. However, this proposition was also based on the observation
of Erwin Chargaff that for a double stranded DNA, the ratios between Adenine and Thymine and
Guanine and Cytosine are constant and equals one.

Which base 15 present in RNA, but not in DNA?
(1) Adenine
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Attempt items based, on the passage given below :
In RNA, every nucleotide residue has an additional -OH group present at 2'position in the

ribose. Also, in RNA the uracil is found at the place of thymine (3-methyl uracil, another chemical
name for thymine)

DNA as an acidic substance present in nucleus was first identified by Friedrich Meischer in
1869, He named it as ‘Nuclein’, However, due to technical limitationinisolating sucha long polymer
intact, the elucidation of structure of DNA remained elusive for a very long period of time. It was
only in 1953 that James Watson and Francis Crick, based on the X-ray diffraction data produced
by Maurice Wilkins and Rosalind Franklin, proposed a very simple but famous Double Helix model
for the structure of DNA, One of the hallmarks of their proposition was base pairing between the
two strands of polynucleotide chains. However, this proposition was also based on the observation
of Erwin Chargaff that for a double stranded DNA, the ratios between Adenine and Thymine and
Guanine and Cytosine are constant and equals one.

What is the ratio between Guanine and Cytosine in DNA?
1) >1

(2) <1
B =1
4 =
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Attempt items based, on the passage given below :

In RNA, every nucleotide residue has an additional -OH group present at 2'position in the
ribose. Also, in RNA the uracil is found at the place of thymine (3-methyl uracil, another chemical
name for thymine),

DNA as an acidic substance present in nucleus was first identified by Friedrich Meischer in
1869, He named it as ‘Nuclein’, However, due to technical limitation in isolating sucha long polymer
intact, the elucidation of structure of DNA remained elusive for a very long period of time. It was
only in 1953 that James Watson and Francis Crick, based on the X-ray diffraction data produced
by Maurice Wilkins and Rosalind Franklin, proposed a very simple but famous Double Helix model
for the structure of DNA, One of the hallmarks of their proposition was base pairing between the
two strands of polynucleotide chains. However, this proposition was also based on the observation
of Erwin Chargaff that for a double stranded DNA, the ratios between Adenine and Thymine and
Guanine and Cytosine are constant and equals one.

Initial name of DNA was :

(1) Nucleotide

2
3
(4

] Nucleon

] Nuclein

] Nucloid
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Attempt items based, on the passage given below :
In RNA, every nucleotide residue has an additional -OH group present at 2'position in the

ribose. Also, in RNA the uracil is found at the place of thymine (3-methyl uracil, another chemical
name for thymine),

DNA as an acidic substance present in nucleus was first identified by Friedrich Meischer in
1869, He named it as ‘Nuclein’, However, due to technical limitation in isolating sucha long polymer
intact, the elucidation of structure of DNA remained elusive for a very long period of time. It was
only in 1953 that James Watson and Francis Crick, based on the X-ray diffraction data produced
by Maurice Wilkins and Rosalind Franklin, proposed a very simple but famous Double Helix model
for the structure of DNA, One of the hallmarks of their proposition was base pairing between the
two strands of polynucleotide chains. However, this proposition was also based on the observation
of Erwin Chargaff that for a double stranded DNA, the ratios between Adenine and Thymine and
Guanine and Cytosine are constant and equals one.

Who proposed ‘Double Helix' structure of DNA?
(1)  Wilkins and Franklin

(2) Watson and Crick

(3)  Wilkins and Watson

(4)  Watson and Franklin

Options:

54025010917. 1

54025010918. 2

54025010919. 3

54025010920. 4

Question Number : 245 Question Id : 5402502730 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1




et T TSN o YT T Y 1 &1 et o AT aht ¢

IR, H 77 s o § T & 2 W R ol OH T da g1 smw A o
PR (5- Rt T AP 4 0 T 1) 5 S s T 1 & | ., O v
e 1 e 4 ST €, T T ) W 1869 % efm TR A 9 ot | 3 8 g T e
T T T 3 AT A § e W % T A # A 3 e 76 I
Tl T8 1 7 i 1950 79 A SR i o 7 Wi Tl R e hiem o X4
T e e 0 LT ] 9P, e 91 100,06 fet e fon ) €1
o e S 1 e fon o wffgfeiere <) 0 o el o Yol e 7% e
3 T o e, o " el 0.0, ¥ A ol e e T i o
TR IR O o0 i ¢ o
ST ¢ e S ot T 417
(1) foew o e
) T i
() e ot

(4) R A e

Options :

54025010917.1
54025010918. 2
54025010919. 3

54025010920. 4

Sub-Section Number : 3
Sub-Section Id : 540250190
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 246 Question Id : 5402502731 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :



Key

Value

Comprehension

Comp2

Attempt items based on the passage given below :
Types of compound soil structure and their characteristics

Type

Shape and characteristics

Blocky

o '-_AF'—-T-
— i

Spherical

All the three dimensions of peds are of about same size providing a shape
of block having flat or rounded faces. These peds are further subdivided
into angular blocky and sub-angular blocky. In the former, faces are flat, and
edges and corners are sharp while in the latter, face and edges are mainly
rounded.

The blocky structure is usually found in B-horizon and promotes good
drainage, aeration and root penefration.

The peds are elongated more in vertical than in horizontal direction giving
a column like shape. Vertical cleavage planes are predominant. When the
tops of peds are relatively angular and flat, it is called prismatic and when
rounded, it is called coluninar.

Prismatic structure commonly occurs in subsurface horizons in arid and
semiarid regions,

Horizontal axis is longer than vertical axis resulting in a plate like
appearance. Horizontal cleavage planes are predominant. When peds are
thick, they are called platy, and when thin, are called laminar.

Platy structureis often inherited from parent material and may also be formed
due to compaction of clayey soils by heavy machinery.

Peds are roughly spherical or granular and sub-divided into granular and
crumb. Granular structure is less porous than the crumb due to low organic
matter content.

Spherical structure is formed by biotic activities in surface horizon and
promotes infiltration, percolation, aeration and root penetration in soils.

When the peds, are elongated more in vertical than in horizontal direction and tops of peds are
rounded, the structure is called :

(1) Sub-angular blocky

(2) Crumb
(3) Prismatic
(

4)  Columnar
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Attempt items based on the passage given below :

Types of compound soil structure and their characteristics

Type

Shape and characteristics

Blocky

All the three dimensions of peds are of about same size providing a shape
of block having flat or rounded faces. These peds are further subdivided
into angular blocky and sub-angular blocky. In the former, faces are flat, and
edges and corners are sharp while in the latter, face and edges are mainly
rounded.

The blocky structure is usually found in B-horizon and promotes good
drainage, aeration and root penetration.

The peds are elongated more in vertical than in horizontal direction giving
a column like shape. Vertical cleavage planes are predominant. When the
tops of peds are relatively angular and flat, it is called prismatic and when
rounded, it is called columnar.

Prismatic structure commonly occurs in subsurface horizons in arid and
semiarid regions,

Horizontal axis is longer than vertical axis resulting in a plate like
appearance. Horizontal cleavage planes are predominant. When peds are
thick, they are called platy, and when thin, are called laminar.

Platy structure is often inherited from parent material and may also be formed
due to compaction of clayey soils by heavy machinery.

Peds are roughly spherical or granular and sub-divided into granular and
crumb. Granular structure is less porous than the crumb due to low organic
matter content.

Spherical structure is formed by biotic activities in surface horizon and
promotes infiltration, percolation, aeration and root penetration in soils.

When all the three dimensions of peds are of about the same size and, faces and edges are mainly
rounded, the soil structure is called :

(1) Angular blocky

2)  Sub-angular blocky

(
(3) Laminar
(

4)  Columnar
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Attempt items based on the passage given below :
Types of compound soil structure and their characteristics

Type

Shape and characteristics

Blocky

All the three dimensions of peds are of about same size providing a shape
of block having flat or rounded faces. These peds are further subdivided
into angular blocky and sub-angular blocky. In the former, faces are flat, and
edges and corners are sharp while in the latter, face and edges are mainly
rounded.

The blocky structure is usually found in B-horizon and promotes good
drainage, aeration and root penetration.

The peds are elongated more in vertical than in horizontal direction giving
a column like shape. Vertical cleavage planes are predominant. When the
tops of peds are relatively angular and flat, it is called prismatic and when
rounded, it is called columnar.

Prismatic structure commonly occurs in subsurface horizons in arid and
semiarid regions,

Horizontal axis is longer than vertical axis resulting in a plate like
appearance. Horizontal cleavage planes are predominant. When peds are
thick, they are called platy, and when thin, are called laminar.

Platy structure is often inherited from parent material and may also be formed
due to compaction of clayey soils by heavy machinery.

Peds are roughly spherical or granular and sub-divided into granular and
crumb. Granular structure is less porous than the crumb due to low organic
matter content.

Spherical structure is formed by biotic activities in surface horizon and
promotes infiltration, percolation, aeration and root penetration in soils.

When the peds are longer in horizontal axis than in vertical axis the soil structure is called :

(1) Prismatic

(2) Angular blocky

(3) Platy

(4) Granular
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Attempt items based on the passage given below :
Types of compound soil structure and their characteristics

Shape and characteristics

All the three dimensions of peds are of about same size providing a shape
of block having flat or rounded faces. These peds are further subdivided
into angular blocky and sub-angular blocky. In the former, faces are flat, and
edges and corners are sharp while in the latter, face and edges are mainly
rounded.

The blocky structure is usually found in B-horizon and promotes good
drainage, aeration and root penetration.

The peds are elongated more in vertical than in horizontal direction giving
a column like shape. Vertical cleavage planes are predominant. When the
tops of peds are relatively angular and flat, it is called prismatic and when
rounded, it is called columnar.

Prismatic structure commonly occurs in subsurface horizons in arid and
semiarid regions,

Horizontal axis is longer than vertical axis resulting in a plate like
appearance. Horizontal cleavage planes are predominant. When peds are
thick, they are called platy, and when thin, are called laminar.

Platy structure is often inherited from parent material and may also be formed
due to compaction of clayey soils by heavy machinery.

Spherical Peds are roughly spherical or granular and sub-divided into granular and
P crumb. Granular structure is less porous than the crumb due to low organic

matter content.

Spherical structure is formed by biotic activities in surface horizon and

promotes infiltration, percolation, aeration and root penetration in soils.

Which of the following soil structure is roughly sperical and is formed by biotic activities in surface
horizon and promotes aeration and infiltration ?

(1)  Crumb
(2) Laminar
(3) Columnar
(4) Prismatic

Options :
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Attempt items based on the passage given below :

Types of compound soil structure and their characteristics

Type

Shape and characteristics

Blocky

All the three dimensions of peds are of about same size providing a shape
of block having flat or rounded faces. These peds are further subdivided
into angular blocky and sub-angular blocky. In the former, faces are flat, and
edges and corners are sharp while in the latter, face and edges are mainly
rounded.

The blocky structure is usually found in B-horizon and promotes good
drainage, aeration and root penetration.

The peds are elongated more in vertical than in horizontal direction giving
a column like shape. Vertical cleavage planes are predominant. When the
tops of peds are relatively angular and flat, it is called prismatic and when
rounded, it is called columnar.

Prismatic structure commonly occurs in subsurface horizons in arid and
semiarid regions,

Horizontal axis is longer than vertical axis resulting in a plate like
appearance. Horizontal cleavage planes are predominant. When peds are
thick, they are called platy, and when thin, are called laminar.

Platy structure is often inherited from parent material and may also be formed
due to compaction of clayey soils by heavy machinery.

Peds are roughly spherical or granular and sub-divided into granular and
crumb. Granular structure is less porous than the crumb due to low organic
matter content.

Spherical structure is formed by biotic activities in surface horizon and
promotes infiltration, percolation, aeration and root penetration in soils.

Which of the following soil structure is generally found in B-horizon, promotes aeration, good
drainage and penetration ?

(1) Platy

(2) Laminar
(3) Crumb
(4) Blocky
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